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Assignment Content A

Question 1 Feedback for student

vicor is 75 times , _ . | otient is 12, . _ o o
The divisor is 25 times the guotient and 5 times the remainder. If the quotient is 12, the dividend is Your instructor hasn't added feedback

Question 2

Evaluate the square of 897
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If 6432%7 is divisible by 3, then the digit in place of * is:
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Feedback for student

Your instructor hasn't added feedback

Question 4

A candidate who scores 30% fails by 10 marks, while another candidate who scores 40% marks gets 15 more than minimum pass marks. The maximum marks are:

250

©0®0

Question 5
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Your instructor hasn't added feedback

Question 5

A number whose one-fifth part increased by 14 is equal to its one-fourth part diminished by 10, is
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Assignment Content A

Question 1 Feedback for student

What will be the ratio of simple interest earned by certain amount at the same rate of interest for 12 years and that for 15 years?

@ data inadequate

Your instructor hasn't added feedback

Question 2

P sells a bicycle to Q at a profit of 20% and Q sells it to R at a profit of 25%. If R pays Rs. 3000, what did P pay for it?
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Question 3 E ceapac

Ajmal made a profit of 40% when selling a dress at Rs. 7,000. Find the cost price of the same dress. Feedback for student

Your instructor hasn't added feedback

@ Rs 4800

Question 4

A tradesman marks his goods 40% above the cost price and allows his customers 15 % reduction on their bills. What percent profit does he make?

Question 5
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|§| Feedback

, Feedback for student
Question 5

a " . . . ll,ul' - I. _ 'I'-i 1 i.'_' ] I|
A real estate agent sells two sites for Rs. 28000 each. On one he gains 35% and on the other he loses 35 %. Evaluate his loss or gain percent? Your instructor hasn't added jeedback

@ No profit No loss
4% loss

o 12.25 % loss
@ 6.25% gain

Question 6

A man took loan from a bank at the rate of 12% p.a. simple interest. After 3 years he had to pay Rs. 7200 interest only for the period. Evaluate the principal amount borrowed by him?
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|§| Feedback

Assignment Content A

Question 1 Feedback for student

N 2 ) ) ) |
Evaluate the square of 1072 Your instructor hasn't added feedback

Question 2

If the price of a book is first decreased by 35% and then increased by 20%, then the net change in the price will be:

@ 40 % increase
10 % decrease
@ 30 % increase
o 22 % decrease
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Find the square of 79 Feedback for student

Your instructor hasn't added feedback

Question 5
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The difference between the place value and the face value of 4 in the numeral 967452 is

@ 639 Feedback for student

o 699 X Your instructor hasn't added feedback

Question 6

If books bought at prices ranging from Rs. 200 to Rs. 450 are sold at prices ranging from Rs. 350 to Rs. 525, what is the greatest possible profit that might be made in selling eight books?

Question 7

If selling price is doubled, the profit triples. Evaluate the profit percent?
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Question 7

Feedback for student
If selling price is doubled, the profit triples. Evaluate the profit percent?

w

Reading list

11712

Your instructor hasn't added feedback

o 100 %

Question 8

If 80% of 7/5 of a number is 56, then the number is

Duestion 9
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Question 9 -
|§| Feedback
The difference between the squares of two consecutive odd integers is always divisible by?
@ ; Feedback for student
o 3 Your instructor hasn't added feedback

=

©
®

Question 10

If 40% of a = b, then b% of 40 is the same as

@ 4% ofa
8% ofa
@ 10 % of a
o 16 % of a

Question 11

A dealer sold two of his cattle for Rs. 1000 each. On one of them he lost 20% on the other, he gained 20%. His gain or loss percent in the entire transaction was:

. . 1144
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|§| Feedback

Question 11 Feedback for student

A dealer sold two of his cattle for Rs. 1000 each. On one of them he lost 20% on the other, he gained 20%. His gain or loss percent in the entire transaction was: Your instructor hasn't added feedback

o 4 % loss
1 % loss

@ 1 % gain
@ 10 % loss

Question 12

If the manufacturer gains 20 %, the wholesale dealer 30 % and the retailer 50 %, then find the cost of production (Approximately) of a table if the retail price was Rs 2529.54,

11:44
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Assignment Content

Question 1

Evaluate the square of 75?



Question 3
A number whose one-fifth part increased by 14 is equal to its one-fourth part diminished by 10, is
() 220

270

(© 200

© =

Question 4

Evaluate the square of 1137

12549
e 12769

@ 13549

‘. o g -
D) 11249




Question 5

How many natural numbers divisible by 9 are there between 3 and 200?

Question 6

921 x 111
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Assignment Content

Question 1

A tradesman marks his goods 40% above the cost price and allows his customers 15 % reduction on their bills. What percent profit does he make?

fnal sum o money(approx) at compound interest amount to Rs.750 at the end of the first year and Rs.776 at the end of the second year?
o Rs 72



Question 3

if the amount is 1.21 times of the sum after 2 years at compound interest (compound annually), the rate of interest per annum is:

Question 4

A sum of Rs. 15,500 amounts to Rs. 18,500 in 4 years at the rate of simple interest. Evaluate the rate of interest?

Question 5



Question 5

Question 6

A real estate agent sells two sites for Rs. 28000 each. On one he gains 35% and on the other he

@ 6.25% gain
4% loss
O 22550

(D ) No profit No loss
St

loses 35 %. Evaluate his loss or gain per



Test Content

Question 1

If selling price is doubled, the profit triples. Evaluate the profit percent?

Question 2



Question 3

(1 point

Question 4 [ 1Point

N e

Find the square of 79




Question 5

(wm)

Nt

If the price of a book is first decreased by 35% and then increased by 20%, then the

will be:

il

Question 6 (1 Point )

A student multiplied a number by 4/5 instead of 5/4 What is the percentage error in the calculation?
f Yy p g

@ 36%

74%
o
@ 840-'{'

: ( 1Point )
Question 7 ' -



Question 7 /D
.1 Point

Fvaluate the smallest number by which 3125 must be divided in order to make it int

Question 8 1 Point

arson incurs 2 loss of 10% by selling a watch for Rs. 2250. At what price should the watch b

\v)
O
e |
~



Question 9 i

Q7 x 1IN

Question 10 ’\' 1P

810 sweets were distributed equally among children in such a way that the number of sweets received by each child is 40% of

total number of children. How many sweets did each child receive?

Question 11 i "




Question 11

A certain amount €earns sim
have earned?

Question 12

Every year before the festiv

discounts of 20% and 10% r
@ 4.15 % gain
3.27 % gain
@ 15.2 % gain

ple interest of Rs. 3500 after 7 years. Had the in

e season, a shog

> r : Fualiiata
espectively. tvaluate

tere

i
’

(L1 Point )

keeper increases the price of the product by 60% and then introduces two successive
percentage loss and percentage gain?



0.6KB/s{) B

Surprise test 1

Question 12

The difference between the squares of two
consecutive odd integers is always divisible by?
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Question 11

The value of a machine depreciates
at the rate of 20% every year. It was
purchased 2 years ago. If its
present value is Rs. 8748, its
purchase price was:

Question 12 @
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Question 8

If the manufacturer gains 20 %, the
wholesale dealer 30 % and the
retailer 50 %, then find the cost of
production (Approximately) of a
table if the retail price was Rs
2529.54,
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@ Rs 9001

Question 9

How much time will take for an
amount of Rs. 900 to yield Rs.162 as
interest at 9% per annum of simple
Interest?
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@ 3 years

Question 10

4.2% of 800 x 2.4% of? = 288

= e, g e -0
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@ 876458

Question 7

982 *9999

Question 8

If the manufacturer gains 20 %, tl@
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Surprise test 1

@ 9404

Question 5

If 80% of 7/5 of a number is 56, then the number is

Question 6

Q7A w AL @
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Question 6

926 x 452

Question 7 @
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Question 3

The difference between the place
value and the face value of 4 in the
numeral 967452 is
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@ 583

Question 4

I * 122

Question 5

If 80% of 7//5 of a number is 56, then the number is

0,
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Question 1

A man took loan from a bank at the
rate of 15% p.a. simple interest.
After 3 years he had to pay Rs. 6400
interest only for the period. The
principal amount borrowed by him

Was.
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Question 2

Find the compound interest on Rs.
20,000 In 1 year at 8% per annum,
the interest being compounded

half-yearly.

Question 3
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Question 2

The price of sugar is increased by
25%. As a result, a family has
decreased its consumption by 20%.
The expenditure of the family on

sugar is decreased by:

Question 3 @
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Assignment Content A\
Question 1

Evaluate the square of 897

Question 2

he price of sugar is increased by
25%. As a result, a family has (?)
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Evaluate the square of 1137

Question 4

Evaluate the square of 757
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Question 5

97 %999

Question 6

976 x 652
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Question 1

Ajmal made a profit of 40% when
selling a dress at Rs. 7,000. Find the
cost price of the same dress.

@ Rs 3000

Question 2
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Question 3

A sum of money becomes 27 times
of itself in 3 years at compound
interest. Evaluate the rate of
iInterest per annum ?

Question 4
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Question 2

A sum of money at simple interest
amounts to Rs. 825 in 3 years and
to Rs. 864 in 4 years. The sum is:

@ Rs 650

Question 3



0.0KB/s{) B ..ul

1038PM O EHO® OHEE

1d.blackboard.com

= X Quiz 1.2

Question 5

The difference between simple anad
compound interests compounded
annually on a certain sum of money
for 2 years at 4% per annum is Rs.

3. The sum (in Rs.) is:

Question 6 @
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Question 4

P sells a bicycle to Q at a profit of
20% and Q sells it to R at a profit of

25%. If R pays Rs. 3000, what did P
pay for it?

Question 5 @
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Question 6

A man took loan from a bank at the

rate of 12% p.a. simple interest.
After 3 years he had to pay Rs. 7200

interest only for the period.
Evaluate the principal amount
borrowed by him?
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rest. After 3 years he had to pay Rs. 7200 interest
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Part increased by 14 is equal to its one-fourth part diminished by 10, is

Question 4

The divisor is 25 times the quotient and 5 times the remainder. if the quotient Is 12, the dividend is:
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‘A candidate who scores 30% faiis Dy 10 marks. while another candidate wno SCOres A0% marks gets 15 more than

minimum pass marks. The maximum marks are:
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| price QT sugar is increased by 25%. As a result, a family has decreased its consumption by 20%. The expenditure
Of the family on sugar is decreased by: e

Question 6

659% of a number is more than its 25% by 120. Evaluate 35% of that number?
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at 1> Le percentage error in the calculation?

|d Rs.162 as interest at 9% per annum of simple interest?
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It the cost price of 18 pens is equal to the selling price of 9 pens, the gain percent is?

Question 8

9726 x 452




o RERR A SR ot NC Y (OBI6HT_Tiovarvian /A ttempt/ 11669441 1

A certain amount earns simple interest of Rs. 3500 after 7 years.,
Interest would it have earned?

Had the interest been 4% more, how much more

Question 10

Evaluate compound interest on Rs. 9000 at 15% per annum for 2 years 4 months, compounded annually




Evaluate the square of 1077

Question 6

If the price of a book IS first aecreasea DY

@ 10 % decrease
30 % Increase
@ 40 % increase
o 22 % decrease

. i
e
{
i

{ by 20%, then the net change in the price will be:

ol O 8 6 A1
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982 * 9999

Question 12

4.2% of 800 x 2.4% of? = 233




Question 1

P sells a bitycle to § at a profit of 20% and @ sells itto B at 3 profit of 25%. If R pays R=. 3000, what did P pay forit?

Question 2

What sum of money{approk) at compound interest will amount to RS.750 at the end of the first year and Rs.776 at the end of the second year?



Question 3

Areal estate dgent s2lls wo sites for Rs. 28000 each. On one he gains 35% and on the other he loses 35 %, Evaluate his 1oss or gain percent?

@ No prafit No loss

@ 6.25% gain

Question 4

Asum of money becomes 17 times of itseif in 3 years at compound interest. Evaluate the rate of interest per annum ?




I Question 5

What will be the ratio of simple interest earned by certain amount at the same rate of interest for 1.2 years and that for 153 years?

(&) 14
13
(¢ P
(D) eata inadequate

Question 6

Atradesman marks his gocds 40% above the cost price and allows his customers 15 % reduction on their bills. What percent profit does he make?



Assignment Contant

Question 1

gy v 99g



I Question 2

If the numerator of a fraction is increased by 300% and the denominator of the fraction is increased by 250%, the resultant fraction is 5/7. Evaluate the
original fraction?

@ 30
1/8
@ W7
G =1

Question 3

A number, when divided by 899, gives a remainder 63, If the same number is divided by 27, the remainder will be:
(&) s
4

G can't be determined

(D) 7



I Question 4

The price of sugar is increased by 25%. As a result, a family has decreased its consumption by 20%. The expenditure of the family an sugar is decreased by:

(A I

Question 5

Evaluate the square of 757



Question b

How many natural mimbers divisible by 8 are there between 3 and 2007

®=



[E] Feedback
Assignment Content ~

Question 1 Feedback for student

Find the compound interest on Rs. 20,000 in 1 year at 8% per annum, the interest being compounded half-yearly. Your instructor hasn't added feedback



I Question 2

The sum of all two digits numbers divisible by 11 is

(&) sse

Question 3

The difference berween the squares of two consecutive odd integers is always divisible by?

0:
®) 3
(©
Ok



Question 4
Evaluate the smallest number by which 2125 mustbe divided in arder to makea it into a parfect square?
@ 2
3
(c B
(D) 4

Question 5

IF80% of ¥/5 ofa number is 56, then the number is

(®) 115
(B) o4
[ c JEu
(o) s




Question &

If 0% of a = b, then b% of 40s the same as

Question 7

922 * 9999



Question 8

If the cost price of 18 pens & equal to the selling price of ¢ pans, the gain percentis?

Question 9

How much time will take for an amount of Rs. 900 1o yield Rs.162 a5 Interest at 9% per annum of simple-interest?




Question 10

Evaluate compound interest on Rs. 9000 at 15% per annum for 2 years 4 months, compoundad annuatly

Question 11

TIrE122

(&) s4ca




Question 12

The compound interest on r5.30000 at 7% per annum is Rs5.4347. The peried is
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|§| Feedback )
el  Assignment Content ~
Question 1 Feedback for student
57%937

Your instructor fasn't added feedback

Question 2

The current birth rate per thousand is 42, whereas correspanding death rate is 32 per thousand. The net growth rate in
terms of population increase in percent is giveri by:
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On a sumof money, the simple interest for 2 years is Rs. 1320, while the compaound interest is R5.1386, the rate of interest i IE' Feedback
el Peing the samein both the cases. Evaluate rate of interest?

o 0% Feedback for student

Your instructor fasn't added feedback

Question 4

Find compound interest on Rs. 10000 at 16% perannum for 2 vears eompounded annuaily
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Question 5 [E] Feedback
X
776 = 987

Feedback for student

Your instructor fasn't added feedback

Question 6

Evaluate the square root of 96047
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; ; ; : ’ : y , |§| Feedback
74 Three consecutive numbers such that twice the first, 3 times the second and 4 times the third together make 290. The larger
numberis:
@ Feedback for student
19
9 18 Yourinstructor hasn't odded feedback

Question 8

Simplify [82 12+ 3% 2] + (18—-6)~ 4.

® s
@
© &
o Ra
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Question 9
|§| Feedback

A seller uses 800 gm in place of 1 kg to s&ll his goods. Find his actual profit/loss % wheit he sells his article on 5% loss on cost
price?

o 18.75% profit
24.18 % profit
@ 14.28 % loss
@ 24.18% loss

Feedback for student

Your instructor fasn't added feedback

Question 10

If B0% of 3/5 of a number is 48, then evaluate square root of the number?
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Question 11 [E] Feedback

ITC sells.one product at a profit of 30% another at & loss of 30% at the same selling price. Evaluate the loss incurred by ITC?

@1%
O%

Feedback for student

Your instructor fasn't added feedback

Question 12

Find the compound interest on Rs. 10,000 in1 year at 18% per annum, the intergst being compounded haif-yearly,
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Quiz 1.1

PALLAVI KUMARI

{ gos Final Grade
oos, Submitted 9/19/21, 2:49 PM (UTC+5:20)

[ Question scores appear after all grades are posted

|§| Feedback
Assignment Content ~
Question 1 Feedback for student
9271 = 111

Yourinstructor-hasn't added feedback
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|§| Feedback

@ e Feedback for student

Your instructor fasn't added feedback

Question 3

The product of two numbers is 180 and the sum of their squares is 369, Evaluate the sum of the two numbers?
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Question 4 @ Feedback

3.2% of 800 = 2.4% of? = 188

Feedback for student
600.19

650.45 Your instructor hasn't added feedback

305.98

700.29

©@0®06

Question 5

A number, when divided by 899, gives a remainder 63, If the samie’ number is divided by 27, the rermainder will be:
@) 7
5
© 4

o can't be determined
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|§| Feedback

% A number, when divided by 899, gives a remainder 63. If the same numberis divided by 27, the remainder will be:

@ L Feedback for student

(®) s
(© 4

o can't be determined

Your instructor fasn't added feedback

Question 6

Evaluate the square of 757
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APTITUDE

PALLAVI KUMARI

f Boz Final Grade
2| Submitted 9/19/21, 3:04 PM (UTC+5:30)

[* Question scores appear after all grades are posted

|§| Feedback
Assignment Content ~
Question 1 Feedback for student
ik 1 1 i o e i i T i iocht of B E | i
A-dishonest dealer professes to sell his goods at the'cost price but uses a false weight of 750 g instead of 1 kg. Evaluate gain Vour instructor hosit added feedback
percent?
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Question 2 [E] Feedback

When a commuodity is sold for Rs. 54.80, there is a loss 0f 20%. Evaluate the cost price of the commodity?
Feedback for student

Your instructor fasn't added feedback

Question 3

Asum of money becomes 27 times of itselfin 3 years at compound interest. Evaluate the rate of interest per annum ?
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Question 4
|§| Feedback

Areal estate agent sells two sites for Rs. 28000 each. On one he gains 35% and on the other he loses 35 %: Evaluate his loss
of gain percent?

@ 4% loss

No profit No loss
@ 6:25% gain

o 12.25 % loss

Feedback for student

Your instructor fasn't added feedback

Question 5

A'sum of Rs. 15,500 armounts to Rs. 18,500 in 4 years at the rate of simple interest. Evaluate the rafe of interest?
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|§| Feedback

Asum of Bs. 15,500 amounts to Rs. 18,500 in 4 years at the rate of simple interest. Evaluate the rate of interest?

Feedback for student

@ = Yourinstructor hasn't odded feedback

Question 6

What sum ef meney(approx) at compound interest will amount to-Rs.750 at the'end of the first year and Rs;776 at the end of
the second year?

@ Rs600.25
@ Rs625.25
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Surprise test 1

-

PALLAVI KUMARI

oo=| Final Grade

883 Sybmitted 9/19/21, 2:35 PM (UTC+5:30)

[X Question scores appear after all grades are posted

|§| Feedback

Assiznment Content

Question 1 Feedback for student

fselli ice i | prafit «E ? )
If selling price is doubled. the profit triples. Evaluate the profit percent Your instructor hasn't added feedback
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A student multiplied a number by 4/5 instead of 5/4\What is-the percentage error in the caleculation? I%l Feedback

@ 84%

Feedback for student

74%

@ 64%

Your instructor fasn't added feedback

36%

Question 3

982 * 9999
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Question 5 [E] Feedback

The difference between the squares of bwa consecutive odd integers is always divisible by?

Feedback for student

|

Your instructor fasn't added feedback

OROR - 1O

Question 6

Evaluate the'srnallest pumber by which 3125 must be divided in'order to make it into a perfect square?
(A B
2
© 4
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Question 7 |§| Feedback
X
The value of a machine depreciates at the rateof 20% every year. It was purchased 2 years ago. Ififs present value is Rs:
8748, its purchase price was; Feedback for student
o 13668.75 Your instructor fasn't added feedback

Question 8

Ifthecost price of 18 pens is equal to the selling price of 9 pens, the gain pefcent is?
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Question 9 A ~
|§| Feedback

Aman took loan from a bank.at the rate of 15% p.a: simple interest. After 3 years he had to pay Rs: 6400 interest only for the
period. The principal amount borrowed by him was;

@ Rs:15000

Feedback for student

Your instructor fasn't added feedback

Question 10

A person incurs a loss of 10% by selling:a watch for Rs:.2250. At what price should the watch be'sold to-earn 10% profit?
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uestion 11 i B
Q |§| Feedback
X
Evaluate the rate percent per annumeat which a sum of money double in 10 years.
Feedback for student
o 10 %
e 11.5 % Your instructor fasn't added feedback

Question 12

Whiat least numbermust be subtracted from 13601, so that the remainder is divisible by 477
o 18
37

28

©
@23
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Question 11

A woman spends 45% of his income on food, 15% on children's education and 70% of the remaining on house rent. What percent of her income
she is left with?

Question 12

Evaluate the rate percent per annum at which a sum of money double in 10 years.




Question 5

A person incurs a loss of 10% by selling a watch for Rs. 2250. At what price should the watch be sold to earn 10% profit?

Question 6

Evaluate the square of 107?



Question 5

If the price of a book is first decreased by 35% and then increased by 20%, then the net change in the price will be:

o 22 % decrease
40 % increase

© 30 % increase
@ 10 % decrease

Question 6

If the cost price of 18 pens is equal to the selling price of 9 pens, the gain percent is?

@ 30 %



Question 7

476 5% 0 is divisible by 11. The non-zero digit in the ten's place is

Question 8

Fresh fruit contains 68% water and dry fruit contains 20% water. How much dry fruit can be obtained from 200 kg of fresh fruits?

®
® =
© =
0«



Question 7

Evaluate the rate percent per annum at which a sum of money double in 10 years.

Question 8

A man took loan from a bank at the rate of 15% p.a. simple interest. After 3 years he had to pay Rs. 6400 interest only for the period. The principal
amount borrowed by him was:



Question 11

The difference between the place value and the face value of 4 in the numeral 967452 is

Question 12

Evaluate compound interest on Rs. 9000 at 15% per annum for 2 years 4 months, compounded annually



Question 3

4.2% of 800 x 2.4% of? = 288

Question 4

982 * 9999




Question 7

The largest 4 digit number exactly divisible by 85 is?

Question 8

Find the square of 105



Question 7

On a sum of money, the simple interest for 2 years is Rs. 1320, while the compound interest is Rs.1386, the rate of interest being the same in both
the cases. Evaluate rate of interest?

Question 8

A sum of money becomes 5/4 of itself in 3 years at a certain rate of simple interest. The rate per annum is?

Q 3%
47/9%
© s7%
(@) s019%



Question 1

60% of 85 + 80% of 25 = M% of 350 Find the value of M?

Question 2

57 ® 137



Question 1

Rs.3000 is divided into two parts such that if one part is invested at 6% and the other at 5% the whole annual interest from both the sum is Rs.170.
How much was lent at 5%?

Question 2

At 10% simple interest per annum a sum of money becomes Rs. 300.3 in 3 years. Evaluate the sum invested?



Question 1

If the cost price of 18 pens is equal to the selling price of 9 pens, the gain percent is?

@ 60 %

Question 2

How much time will take for an amount of Rs. 900 to yield Rs.162 as interest at 9% per annum of simple interest?



Question 9

A man took loan from a bank at the rate of 15% p.a. simple interest. After 3 years he had to pay Rs. 6400 interest only for the period. The principal
amount borrowed by him was:

@ Rs 15000
o Rs 14222.22
@ Rs 2000
@ RS 20000

Question 10

926 % 452



Question 9

Every year before the festive season, a shopkeeper increases the price of the product by 60% and then introduces two successive discounts of 20%
and 10% respectively. Evaluate percentage loss and percentage gain?

@ 4.15 % gain
3.27 % gain
o 15.2 % gain
@ 3.27 % loss

Question 10

Awoman spends 45% of his income on food, 15% on children's education and 70% of the remaining on house rent. What percent of her income
she is left with?



Question 3

Find the square of 79

Question 4

A's salary is 30% of B's salary which is 25% of C's salary. Evaluate percentage of A's salary w.r.t C's salary?

R
e
© 10
®) s



Question 1

Fresh fruit contains 68% water and dry fruit contains 20% water. How much dry fruit can be obtained from 200 kg of fresh fruits?

®
® »
0O =
® »

Question 2
The difference between the squares of two consecutive odd integers is always divisible by?
O:
9
© 7
®) 3



Question 11

Evaluate the square root of 96047

Question 12

A seller uses 800 gm in place of 1 kg to sell his goods. Find his actual profit/loss % when he sells his article on 5% loss on cost price?

@ 24.18% loss
14.28 % loss




Question 9

The simple interest on Rs. 45 for 4 months at the rate of 3 paisa per rupee per month is:



Question 3

The sum of the digits in a two-digit number is 6. If 36 is subtracted from the number, the result is the number with the digits reversed. Evaluate

number?

Question 4

When a woman sells 40 articles for Rs. 200, there is 40% loss. How many articles should she sell for Rs. 240 in order to earn 20% profit?

®
®) 1
© s
0O =

Question 11

The current birth rate per thousand is 42, whereas corresponding death rate is 32 per thousand. The net growth rate in terms of population

increase in percent is given by:

Question 12

Simplify [82-12+3*2]+ (18 -6) + 4.



Question 5

A shopkeeper fixes the marked price of an item 45% above its cost price. The percentage of discount allowed to gain 12% is

Question 6

The current birth rate per thousand is 42, whereas corresponding death rate is 32 per thousand. The net growth rate in terms of population
increase in percent is given by:



Question 9

ITC sells one product at a profit of 30% another at a loss of 30% at the same selling price. Evaluate the loss incurred by ITC?

®

Question 10

Two numbers are 30% and 40% less than the third number. How much percent is the second number less than first number?



Question 3

One-fifth of a number is equal to 5/8th of another number. If 45 is added to the first number, it becomes five times the second number. Evaluate
second number.

Question 4

Rs.3000 is divided into two parts such that if one part is invested at 6% and the other at 5% the whole annual interest from both the sum is Rs.170.
How much was lent at 5%?



Question 11

Evaluate the square root of 96047

Question 12

A seller uses 800 gm in place of 1 kg to sell his goods. Find his actual profit/loss % when he sells his article on 5% loss on cost price?

@ 24.18% loss
14.28 % loss




Question 9

The simple interest on Rs. 45 for 4 months at the rate of 3 paisa per rupee per month is:



Question 3

The sum of the digits in a two-digit number is 6. If 36 is subtracted from the number, the result is the number with the digits reversed. Evaluate

number?

Question 4

When a woman sells 40 articles for Rs. 200, there is 40% loss. How many articles should she sell for Rs. 240 in order to earn 20% profit?

®
®) 1
© s
0O =

Question 11

The current birth rate per thousand is 42, whereas corresponding death rate is 32 per thousand. The net growth rate in terms of population

increase in percent is given by:

Question 12

Simplify [82-12+3*2]+ (18 -6) + 4.



